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IV Semester M.A. Degree Examination, June 2016
(CBCS)
ECONOMICS
B P&per - 4.5 : Urban Economics

Time : 3 Hours . | Max. Marks : 70

Instructions : 1) Read the instructions carefully. |
2) All Parts A, Band C are compuisory.

PART - A
30) | Explain any two. Each question carries 5 marks. - | (2x5=10)

1. Define an urban afe‘a. What are E'ifslm?ain features ?
ST BTET 0,3 AeR. TT Foosd CBLANYS) 808,

| 2 Explam the importance of Urban Transparﬁatuon
snd -aaﬁcrb o) a’ma) iclewnsfiatob)

3. Outline the growth of Urban population
a?ﬁdwdeafd 03 2,5%9559@"7?053@ RO,

iscuss the need for decentralisation of §ndus€ry in Urban areas.
7 #rio egzﬁ’egdéd BrRO8NY D80l 808 g g B0 2esF A,

PART-B

-AnSwer any three f_mm the f@iéewing,. Each question carries 10 marks. (3x10 = 30)

5. Explain the causes and consequences of Urbanisation.
SNoeETeH T E‘bd?@ﬂ% 0B T35 wa“‘amﬁ@& ebﬁm

@/Examﬂne the central place theory and its gﬁmpn ation for Urban growth.
IO e33R BoraoDcos SEOTRB AR08 ) 9030 om0 530 B8R 1050000,
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7. ¢RTIBE. Bordmars esipliarslovwram ) FCDF NeRRERIBOT R N 2337 2.
Discuss problems of Five Year Planning implementation in ind:a

8. NTIT Towmor s 030enSNg Beom) m@ﬁ@m DTOR.
Explain the financial sources of Five Year Plans of India.

9. {PTITY. B0 W¢ B0 ARG %or@’ﬁee’ﬁgt DO,
Explain different stages of Industrial development in India.

- SECTION-C

O3RR) TR DTS @ezﬁ@ﬁ SVUBOR
Answer any two of the following. (15%2=30)
10. =n8esdannoE: Claigon "'s’NQ:bGD ), 03203 T3 553 2332

Discuss the role of pianmﬂg inthe Giobaizzed Economy
11. {08E Wowmors odnexans RO doﬁa IRNS 303 r{eﬁm WO

Explain the goals and strategies of India’s Five Year Plans
12. 10808 WESS ARWF O 20380 03RERING SBeS 2T Nouoqﬁr{@’ab DOLER.

Examine the relationship between eradication of poverty and planning in India.
13. 232)?5')7,'5@ dm:ﬁ Nowﬁf%u ST @mm wtw@aﬂ“‘"f"o‘ %5&0&70 QeSCI T3, da& 2R3

Discuss the role of Popul atnor‘n Poiacy in strengthenmg Human Resource
Development in India.
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